



Factorización de un trinomio de la forma $x^2 + bx + c$

① $x^2 + 7x + 10 = (x + \quad)(x + \quad)$

② $x^2 - 5x + 6 = (x - \quad)(x - \quad)$

③ $x^2 + 3x - 10 = (x + \quad)(x - \quad)$

④ $x^2 + x - 2 = (x + \quad)(x - \quad)$

⑤ $a^2 + 4a + 3 = (x + \quad)(x + \quad)$

⑥ $m^2 + 5m - 14 = (m + \quad)(m - \quad)$

⑦ $y^2 - 9y + 20 = (y - \quad)(y - \quad)$

⑧ $x^2 - 6 - x = (x + \quad)(x - \quad)$

⑨ $x^2 - 9x + 8 = (x - \quad)(x - \quad)$

⑩ $c^2 + 5c - 24 = (c + \quad)(c - \quad)$



Mtra. Zulma Dennis